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QUESTION 1

Steven is a Scrum Master on a new Scrum Team. 

What would be the best way for him to determine if the Product Owner is interacting enough with the Development
Team during a Sprint? 

A. Check whether the Product Owner is actively engaged at the Daily Scrums. 

B. Check whether the Increment presented at the Sprint Review meets the Product Owner\\'s expectations. 

C. See whether the Product Owner has provided enough information at the Sprint Planning to make his/ her presence
optional during the Sprint. The level of autonomy within Development Team can be the result of having the right
presence from the Product Owner. 

D. The Product Owner must always be present with the Development Team. Unavailability of the Product Owner is
prohibited in Scrum. 

Correct Answer: C 

Outcomes of the Scrum Team are affected by the Product Owner\\'s participation and availability. During a Sprint he/she
is responsible for answering questions from the Development Team about items in the current Sprint and optimizing the
value of the work the Development Team does. 

 

QUESTION 2

Three Development Teams are currently building a single product and pulling work from the same Product Backlog. All
three teams have identified that they will need Dan, a database specialist, to work full time in their team for the next
several Sprints. 

What should Steven, the Scrum Master, do to solve this potential problem? 

A. Manage the items in the Sprint Backlogs so that Dan can be utilized evenly for each team. 

B. Assign Dan to the team with the most urgent tasks first and then move him to the next team and so on until the
required support is completed. 

C. Facilitate a discussion with all Development Teams on how they want to deal with this issue, and help them
implement their preferred solution. 

D. Ask Dan to work with the HR department to recruit and hire additional database specialists. In the meantime, have
the Product Owner move items that do not depend on Dan to the top of the Product Backlog. 

Correct Answer: C 

As a servant/leader, the Scrum Master facilitates conversations through open ended questions in order to help the team
members make the best possible decisions according to what is known at the time. He/she does not approve or reject
team decisions but ensures the team stays within the boundaries of the Scrum framework. 

 

QUESTION 3
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Collaboration issues and technical dependencies between multiple Scrum Teams working on the same product can be
fully resolved by using the correct version control tools. 

A. True 

B. False 

Correct Answer: B 

When working on complex problems in complex environments, it cannot be guaranteed that applying a specific process
or tool will fix the problem. Although, process and tools are important it\\'s more important that people collaborate and try
to find different solutions together and not rely solely on a tool to fix the problem. 

 

QUESTION 4

The Sprint length should be: 

A. Short enough to keep the business risk acceptable to the Product Owner. 

B. Short enough to be able to synchronize the development work with other business events. 

C. No more than one month. 

D. All of these answers are correct. 

Correct Answer: D 

 

QUESTION 5

When technical debt occurs, the system will become more unstable as development progresses and code is added
resulting in future work being slowed down. 

A. True 

B. False 

Correct Answer: A 

Technical debt is any shortcomings in the code. It is a natural by-product of software development (unavoidable) and
can at best be managed. If neglected, it will compound and have a negative effect on the team\\'s ability to the deliver
value. A team can have an artificially high velocity by taking shortcuts or introducing technical debt into the system. This
can give a false assumption about the current state of the product. It can look good on the surface but underneath can
be a mess. 
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